
Y2 – Autumn – Block 2 – Step 21 – Missing number problems Answers

Question Answer

1

a) 5
b) 5
c) 12 + 3 = 10 + 5          17 − 5 = 10 + 2

2

a) 10 + 8 = 14 + 4

b) 20 + 6 = 23 + 3
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a) 34 − 7 = 30 − 3

b) 56 − 9 = 50 − 3

5

a) 5
b) 4
c) 3
d) 2
e) 1
f) 0
When the first number goes down by 1, the number being subtracted also goes down 
by 1

6

30p
An orange costs 2p less than a pineapple, so the banana must cost 2p more than an 
apple.

7
£24
Jo has £2 less than Ron to start with, so the jacket must cost £2 less than the shoes.
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